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Following the alphabetical indicators, the grayed-out letters read in
sequence form the answer: POMEGRANATE



Eros’s Arrows

1. Blake A&
2. Charlie £30A

3. Avery AAQ 8. EmersonQQ

4. Kerry AOA <& 9. Jamie OO

5. Parker $&3Q I 10. Alex O

The letters that are not crossed out spell the answer: AMOUR



King Midas

Forage Exhausted | Sauerkraut | Naughty Lasagna Octagon Wage Eager
Rage Cause Stage Overhaul World Cup Incubator | Teacup Haircut
Transfer | Automatic | Half Life Taut Inauguration | Offend Thesaurus | Haunted
Sauce Pauper Referee News Feed | Nausea Pause Australia Safe

The first letters of the AU path spell SPACES NOT IN PATH, hinting to
look off-path for the next step.

The first letters of the non-path answers with AG spell FLOWERS.

The first letters of the non-path answers with CU spell WITH.
The first letters of the non-path answers with FE spell THORNS.

The final answer is FLOWERS WITH THORNS, or ROSES.




Pandora’s Box

The answer pairs are:

1. PLAYHOUSE = HOPE + ASYLUM - M
2. BELLHOP = HOPE + BALL -A
3. SUPERHERO = HOPE + RULERS -L
4. SHOPPER = HOPE + SPAR -A
5. SEMAPHORE = HOPE + DREAMS -D
6. HEPTAGON = HOPE + GIANT -1

7. ORPHANAGE = HOPE + REAGAN -E
8. ATROPHIED = HOPE + ASTRID -S

The extra letters in numerical order spell the answer: MALADIES



Theseus & The Minotaur

Below is the correct path + maze configuration (smilie = Theseus, frownie =
Minotaur).

The answer is formed by reading the roman numeral in each square on the
path that Theseus crosses. For example, in Theseus’s starting square, he
passes XII = 12 = L, in his second square he passes [ = 1 = A, etc.

The final answer is LABYRINTH.
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Meta

The answers are:
1. Amour -> Armor
2. Roses -> Noses
3. Maladies -> Melodies
4. Labyrinth -> Locksmith

Caesar shift the final letters in order, using the twelve different shifts, to
get the final answer: SHE FADED AWAY
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The map can be split into 3x2 grids and read in Braille to give the
final answer: BEAUTY



